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Panthera tigris (Linnaeus, 1758) ssp. Virgate (Illiger, 1815)
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6- v Persian Lion (Panthera leo persica) is a subspecies of lion which survives today only in India,

9 plﬂin a population of 359 loins (as of April 2006). But the biggest threat faced by their narrow

habitat is the presence of a vegetarian pastoralist community with overgrazed areas around the

settlements. This habitat destruction by the cattle and the firewood requirements of the populace

reduces the natural prey base and endangers the lions. The lions are in turn targeted by the people.
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One way to save the last Persian lions form extinction in the wild is to reintroduce some of them
into its natural habitat, including some forestall areas in Iran. To do that, you need some data

concerning the food web and pyramids in order to successfully reintroduce the lion. Make at least

2 questions in order to collect concerned data. Write your answer in Persian.
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